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23.2 g C,HO x (1 mol C,H,O / 46.07 g C,H,O) = 0.504 mol C,H,O
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63.15¢g C x (1 mol C/12.011 g C) =5.258 mol C

530gHx (1 molH/1.008 g H) =5.26 mol H
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31.55g 0 x (1 mol O/15.999 g O) =1.972 mol O
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Mole C / Mole O =5.258 mol C / 1972 mol O = 2.666 mol C / 1.000 mol O =

8 mol C /3 mol O

Mole H / Mole O =5.26 mol H/ 1972 mol O = 2.67 mol H/ 1.000 mol O =8



mol H/ 3 mol O
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0.586 g K+ (1 mol K/39.10 g K) = 0.0150 mol K
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2.00 kg Cu* (1000 g Cu/1 kg Cu) * (1 mol Cu/63.55 g Cu) =31.5 mol Cu

31.5 mol Cu ¢ (1 mol Cu,S /2 mol Cu) * (159.2 g Cu,S / 1 mol Cu,S) =2510 g Cu,S
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2.00x 10° g Cu * (100.0 g Cu,S / 79.83 g Cu) = 2510 g Cu,S
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O00D0DD0O0OD0ODODOOOOODODOO 1.023g-0.603g=0.420 g0 O O CoSO, 10
DO000O0OROOODOODODOOOOOONONDODOOOOODOODODOOOOOOO
0.402 g H,0 + (1 mol H,0 / 18.02 g H,0) = 0.0233 mol H,O
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